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Write all answers in your bluebook.  Show all of your work.  The exam ends at noon.

1.  Consider the Cobb-Douglas production function where real aggregate output Y is given by  

Y = A KL1-,  in which A=5 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and =0.2.  Suppose that currently K=150, L=5, and the price level, P, is 10.  The savings rate, s, is 0.25.  The depreciation rate, , is 0.1.  Assume that the population grows at the rate of 2% per year, and that there is no change in labor-augmenting technology.  Use this information and the Solow Growth Model to answer the questions below.  

(a)  (2pts)  What is the marginal product of labor?

(b)  (2pts)  What are the total earnings of workers?

(c)  (2pts)  What is the wage, W?

(d)  (2pts)  What is the current real aggregate output per worker (y = Y/L)?  

(e)  (2pts)  What is the current real consumption per worker, c?

(f)  (10pts)  What will y be next period?

(g)  (10pts)  What is the steady-state level of capital per worker (k*=K/L)?

(h)  (5pts)  In the steady-state, at what rate would real per-capita income grow?

(i)  (10pts)  What is the golden rule savings rate?

(j)  (5pts)  In the golden rule steady-state, at what rate would real per-capita income grow?

2.  (15pts)  Describe the two methods economists use to estimate the natural rate of unemployment.

3.  (15pts)  According to the Classical Quantity Theory, achieving price-level stability in the United States would require having the money supply grow on average at approximately what rate?  Explain how you found your answer.

4.   (10pts)  Explain, in words, why the LM curve is upward-sloping.  Refer to a derivation of the LM curve as you work through your explanation.

5. (a)  (15pts)  With reference to a Keynesian Cross diagram, discuss how a government spending increase would affect real aggregate output in the Keynesian Cross Model.  Refer to the concept of an expenditure multiplier in your discussion, and show on your graph the effect of the expenditure multiplier on real aggregate output. 

(b)  (15pts)  Explain how the increase in government expenditures which you described in part (a) would affect real aggregate output and real interest rates in the IS-LM model.  Show the effect on an IS-LM diagram.  In your explanation, discuss whether an identical expenditure increase produces the same effect on real aggregate output in the Keynesian Cross and IS-LM models, and why.  

6.  If the natural rate hypothesis holds in a particular model, then the model predicts that the economy will automatically return to the natural rate of output.

(a)  (15pts)  Consider a Keynesian model of fixed nominal wage contracts.  Draw an Aggregate Demand- Aggregate Supply (AD-AS) diagram in which the economy is operating above the natural rate of output.  Explain how the automatic adjustment process would return the economy to the natural rate of output.  Show the process on your diagram.

(b)  (5pts)  When the economy is producing above the natural rate of output, would Keynesians favor letting the automatic adjustment process operate, without resorting to policy interventions?  Explain why or why not.

(c)  (10pts)  Does the natural rate hypothesis hold in a Real Business Cycle Model?  Explain why or why not.

(d) (10pts)  Given the way that the Federal Open Market Committee (FOMC) acts when the economy is producing above the natural rate of output, does it appear that the FOMC is advised by Keynesian economists or Real Business Cycle economists?  Explain your answer.

7.  In 1996 the Nobel Prize Committee chose Robert Lucas as the recipient in economics.  

(a) (15pts)  The committee cited Lucas’s work on models which predict that Federal Reserve policy actions would affect real output only if these actions were not anticipated by the public.  With reference to the appropriate AD-AS diagram, explain Lucas’s reasoning.

(b)  (10pts)  The committee also cited Lucas’s work on the Lucas Critique.  Define the Lucas Critique and discuss how it could help explain why the recipients of President Bush’s 2001 tax cut saved a higher percentage of their rebate checks then they typically save out of each dollar of disposable income. 

8. (15pts)  Consider John Maynard Keynes, who wrote about the macroeconomy during the Great Depression.  Keynes believed it was possible for a recession to be caused by a general feeling of uncertainty among business owners about the likelihood that other business owners would decide to make investment expenditures.  Use the results from the investment coordination experiment (run in class on December 6) to explain why that feeling of uncertainty could cause and perpetuate a recession.  Be sure to define investment in your explanation.

